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Read the article at the top of the n_e-reb-hage and then decide which word or phrase below best fits
each space. Circle the letter you choose for each. opticn. The exercise'.pegihs' with an example (0).

0 A answer — S to answer C that answer
1 A did they spend B they did spend .C they spent
2 A whether B what = - C ifor not
3 A had increased B was increased C have increased
4 A they still spending B I still spend ... C. they still spent
5 A changed B had changed C has changed
6 A increased B had incréased C increases
7 A tells B says us C tells us
8 A takes B had taken C take
9 A ornot B could we get C we could get
10 A is turning B was turning C had turned ‘
Ex. 6: Read the article “Worries aboyt internet use” anq ...
I1C 6B
2A 70
3A 8 A
4C 90
5C 10A




